4.

10.

11.

The guality of a company’s earnings may be affected by the
a. choiece of independent audltors.

k. indust in which the company operates.

c. accounting methods the company uses.

d. countries in which the company operatesa.

A llability is recognized when

a. it is paid for.

b. the exact amount of the liability is known.
c. an obligation has aris=en.

d. the exact due date is known.

Which of the following seguences of actions deacribes the proper
sequence in the accounting cycle?

a. Entry, post, cloae, prepare, adjust, analyze

b. Prepare, enter, poat, adjust, analyze, cluse

c. Post, closa, prepare, ad-just, analyze, enkry

d. Analyze, enter, post, adjuat, prepare, cloee

The periodicity assumption recognires that

a, the company may continue indefinitely.

b. all financial statements should cover a flscal year.
c. the value of an asset may wvary from month to month.
4. net income iz an estimate.

A capital expenditure reasults in a debit to ainj
a. liability account.

k. expanse account.

0. capital account.

d. asset account.

The purpose of an audit is to

a. comply with income tax regulations.

b. determine whether or not a company ls a good investment.
c. determine whether or not a company is a good credit risk.
d. ascertain that the financial atatements follow GAAP.

The most future-directed of the basic financial statements is the
a. income statement.

h. halance aheet.

o, statement of atockholders’ aguity.

d. statement of cash flowa.

Which of the following is NOT a primary concern of internal control?
a. Palrness of financial statements

b. Accuracy of the accounting recurds

e, Efficiency of company cperations

d. Safeaguarding the aaasta
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12.

13.

1l4.

15.

16.

17.
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During 19x%%, cost of goods sold totaled $100,000, inventory
decreased by 535,000, and accounts payable lncreased by £12,000.
Cash paymenta for purchases totaled

a. $53,000.

b. $77,000.

o. $123,000,

d. 5147,000,

A net income will result If grosa margin exceeds
a. ovperating expenses.

k. cost of gonda anid.

c. purchases,

d. coat of goods sold plus operablny expenses.

Which of the folleowing transactions is the mast difficult to assign
to specific time perlode?

a. The use of sguipment

L. The lncurrence of wages

¢, The expiration of insurance

d. The accrual of interest

Which of the following is NOT a characteristie af partnerahips?
a. Limited liability

b. Voluntary asasociation

<. Mutual agency

d. Limited life

Numbaring the chart of accounts to allow for additional accounts
follows which principle of systems design?

a. Compatibility

b, Flexibility

=. Control

d. Cost=benefit

An overstatement of BUGINNING inventory results in
a. a nesd to adjust purchases.

b. Aan understatement of net inuome.

c. an overstatement of net income.

d. no alfect on the pericd’as net income.

Which of the following accounts is a nominal account?
da. Acocounts Receivahle

Wages Expense

Wages Pavable

Bruce Gaines, Capital

oo
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19. Which af tha follawing transactione resulte in the regognition of an
eXpense?
a. Payment on an acocount payable ;
b. Expiration of usefulness of equipment during the acccounting
peried
¢. Withdrawal of assets by owner
d. Paymant of the principal af a loan

20. 1If the market rate of interest is higher than the face intereat rate
at the date of issuance, bonds will
a. sell at a premium.
b. Bell at a discount.
o. sall at face value.
Ad. not sall until the face interecst rate ie adjusted.

Z1. Bond issus costs have the effect of
a. decreasing a bond discount.
k. increasing a bond premium.
¢, decreasing a bond premlum.
d. decreasing the effective interest rate.

22. Tha purpose of the ledger is to
a. chronologically record the day’'s transactions.
bh. keep A record of documentation te support each transactlon.
c. maintain a separate account for sach asset, liability, etc.
d. make sure that all a=ssets, liabilities, etc., have normal
balances at all times.

23. Which of the following is NOT one of the FASE's three objectivea of
financial reporting?
a. Providing information to assess cash flow prospects
b. Providing information for making investment and credit decisions
c, Providing information to asaisat management in making decisions
d. Providing information about business resources and clalms to
Lhemn.

24. Monaka Corporation purchased a truck for $40,000. The company
expectad the truck te last four years or 100,000 miles, with an
estimated reaidual value of 54,000 at the end of that time. During
the second year, the truck was driven 27,500 miles. Compute the
depreciation for the SECOND year under each of the methods below.

{1} Production method

{2) Double-declining-balance method
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(4 gquestions: each 25 pointa]

1 In order to examine the ellectiveness of 1its Cour
annual advertising premotionzs, a mailarder company has
aent a questionnaire Lo each of its customers,asking howW
many of the previous year's promobions prompled orcers
thal olherwise woulid not have been made. The fallowlng
teble aummarizes the data recelved, where the random
variaple ¥ is the number of promotinrns indicaled in the
cuatamer's reponsest

b Bl - FL 2 3 4
pix) | .10 75 - A0 L a0 .05

a. Azauming that the responses recieved were accurate

evalualione of individual effectiveness and that customer

behavior Iin the coming year will oot change, what 1s the

expecbed number cof promotions that each customer will

take adwantage of nexl year by cocrdering goods that

otherwise would not he purchased?

k. What i the varlanuve of X7

. & previous analysis of historical data found that Lhe

mean wvalue of orders f[vr promobicnal goods 1s 312.50,
with the conpany earning a gross prafit of 20% on each
nrder. The [ixed veust of conducting the four promatians

next vear 15 esatimated to be $15,000, with a wvariable

cust of 53.00 per customer for mailing and handling coets.
Amsuming that Lhe survey results can be used as an

accurate prediotar of behavier for exisling and potential

customers, how large a customer base muat the aomnpany
have in crder to cover Lhe cvosi of the promotions?

2. Fpur judges were asked Lo teskt the sensory gquality of
four different frozen nrange junleces. After the complex
scoring syslem was explained to them, the judges assigned
the paints shown in the accompanyling table.,

- pRAND

UG 8 p 4 __i
1 a1 14 71 d6
2 3 £ . 45
3 o = LB L1

__jL_____“__Ij_ 8D 73 5E
Brand sum ol squares = 963,25
Jurdge sum af sguares = £45.25
Total sum of sguares = Z2,17/1.75

a. o these data provide ennugh evidence at the LS

significance level Lo lndlcale thal Lthere are dillerences
in sen=zory quality among the crange-juice barnds?

b. What do Lhese resulls indicate about the consistoncy
ot the four judges' opinions?
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4. The =lgn ©on rhe elevatar In a large akyscoraper
states, "Maximum capacity 2,500 pounds or 16 persons.” A
proulfessor of slalislics wonders whal Lhe probablilily is
that 146 people would weigh more than 2,500 peunds. T

the weights of the pecsple who use the elevator are
narmally distributed, with a mean of 150 pounds and a
standard deviaticon of 20 pounds, what iz the probability
Lhat Lhe prolessor seeks?

4, A common measure of a firm's ligquidity is its current
rarfla, defined as 1ts current assets divided by 1Ls
current liabilities. A relatively high current ratia
provides some evidence Lhat a [lrm can wmeet its shorkt-
term financial ehligaticons. The current ratios [or a
sample of 200 firms are recorded in the accompanying
table(with calculabled sample mean 2.0}, Is there
evidence at the 10% lewvel af significance thal Lhis

zample was drawn fram a normal populatien? (Given
populalion variance o2 = 1],

CITRRENT RATTO FEEQUEHCY

b up to 1.U 23
1.0 up to 1.5 34
1.5 up ke 2.0 47
2.0 up to 2.5 q 0
2.8 up to 3.0 3C
3.0 up te 4.0 2B
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{1}

(£} The lugistiv growth model assumes that the population P(t) satisfies the

(4)

(i) Show that the future value of a conlinuous ifncooe sbream [{L)] ifnvested
al interest rate r after T years is

T
BV W A SiFif}E 2
i}

(ii) SBuppose youw have an copporlunily to invesl in an oil [leld, yuu van
purchase a ld=year lease on an oil [ield f[or 5400,000. Durling thuse 3 yaars,
the o1l tield is expecled Llu genwrate an ipcome at an inetantaneous rate of
[{L} = 500,000e"" dollars per year. Is this a wise inveatment? Assume an
interest rate of 6%. (e 2=0.0498, e 3-1820, 0417, & 0-18.g g3s59)

(11i]) To support their newborn baby's college education, a8 young couple
decide Lo save K dollars and each year thereafter gave 100 dollara more
than the previous year. Buppoae that when the child is 18 years oid, the
cnllﬂgg education costs 100,000 dollars and suppose they can invesl Lhe
money At intersst rate 10% and compounded conlinuously. What should the

initial installmenl K Le? (el"%a &.0488, e 1+B. 0.1853)

differantial aguation dpP/dt = kP(t)[(M=FP[t)} where M,k are constante and
M is the maximum sustainable population, .

(1) interpret thisa differential agquation,

{ii) Solve the ditfterential egualion,

f1ii) Sketch Lhe yraph of y=P(t).

{iv) There is an inflection point in the graph . Any significance of this
inflection poaint?

The production function of a company is fix,y) = lﬂﬂﬂu'zﬁyu'?s, where

x is yhe number uf unite of labar and y ia the number of units of capital.
Suppuse that the labar coata 548 per unit and capital costs $36 per unit.
The total coat. of labor and capital is limited Lo $100,000.

ta) Find the maximum produclicn level for this manufacturer.

(b) Find the maryinal productivity of maney (i.e. the Lagrange multiplier
in Lthe production functien).

() Use the marginal productivity of money to find Lhe maximum number of
unita that can be produced if $125,000 is available for labor and capital.

Use inleyration method to find the volumn of a right pentagon cone {_ﬁﬁ’?’[}_}
whose base ia a pentagon of circumferepnce 5a and whose heighl is L,
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(2) Calculate the folliawing mjﬂmm_dmr or limits,
.w . ..-._..._. -H I.u.nm
(2} (% (b .w.m_i-?-u_n? :.:“,_‘ .,_ e * axdy
L+ - 0y

— 2
(d} lim x%e-% (8] Iim {1+3%) /%

K—> (0 x—> U

vl J0%  (2)(1) 2% (11) 5% {iii) 10% (iwv]) 3¢ (J) 15% ({4 15% (5) 20%
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Lo{10%)
Vor e Pareto distcibation, fx(z) = IF“::I;FT_ lur & = 0, derive the inverse cnmulative

lormula for simulating valuea from Lhe disliibution. Given o =4 and A = 200, vblaix
value of X rorreaponding to value of If = 26 from the nniform |0, 1] distribulioo.

2, [10%0)
Let the joinl padf f{z,u) of X and ¥ be given by Lhe following:

(xy) Mxy)
(1,17 /8
(21 1/8
(L,2) 18
(2,2) A8

Fine the correaponding meany pypy and variances oy,
3. {15%)

The fellewing multiple decrement probabilities apply to students entering a four-year
collepy.

year | academic laiure | withdrawal for other reasous
¥ 0.15 : 0.9
2] .10 0.0
| 2 0.05 0.17
005 | 0.10

An entering class has 1,000 wewbers.

(5) What ia Lhe expectation of the number of graduales? Whal is the varianee?

{b) What is the rxpected number of Lhose whe will fail snme time during Ll [our-year
program” What ia the variance ol the number of alndenta who wil! lail?

4, (10%%)
Let Xy, Xay oo Xo denote a random sample from &1, p). Thus

Y= E}.’, 15 bin, p)
i=1

Prove or dispruve that X is the best unblased eatimalor for p.

1
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. (15%)
Uider the lear model ¥ = X 3 4 ¢, h-_..?“_ =), Couvle] = a® ! v owe have

=¥ =Feoy e Xi=Y= XXX XY = = XXXy == MY
Find E(e], Covlé], Covle, MY ),

[20)

Let X have a diglribution thal is N, 36} 1 we have Lhe randon sample X5, X, Xa
when Lesting He o g = D0 againsl fy 0 op = 50, we use the cobical cegion delined by
= oy, 9,000} : F > ¢}, Delermine ¢ apd v such Lhat K{30] — o — (.05 and
KO0 — DY, where Hip) — E._”...ﬂ o] s Ll power lunclion of Lhe test,

(miven @1 645} = 093, &1 282 = 090 )
L (20%)
Asanme a Gamma priar fnr toe parameter #in the _.r._._._ﬂ..r..._._. (umetion

: .m_
L__._H..._n“_. = .Illm.l.rm‘.”mu_ll A . ._n-u

_Hm_“__“_. - H“_.m+u 5

Lrevelop a lomimula for the posterior mean of @ afler n observations have been oblLained,
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1 11, 21.
2 1d. AR,
3. 13. 21,
4- 14l
5. 15.
6. 16.
7. 17:
H. 18.
g, 19,
10. 20.

24, {1)

(2)

1. Which of the following would NOT affect the balance of the Betained
Earnings account?
a. Prior period adjustment
k. Stock dlividend
e, Stock split
d. Gains and losaes of a company

2. Under the allowance method, when a year-end adjustment is made for
eatimated uncollectible accounts,
a. net income is unchanged.
k. liakilities inorease.
v. btotal assets decreass.
d. total asaseta are unchandged.

3. The amortization of organization costs will
a. increase taxable income.
b. decrease total liabilities.
2., decrease total assebs.
d. increase total stockholders’ equity.
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